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#include<stdio.h>
#include<math.h>

/0000000 0%/

float f(float x)

{

return (X*x*x—8*x*x+10%x) ;

}

int main()

{

float x1,x2,eps,fl,f2,xm,ff;

int i=0;

printf ("\tBisection method\n");

printf("\t 000 x1 x2 ,0000\n");

for(;scanf ("%ghghg",&x1,&x2,&eps) |=EOF;){

f1 = f(x1); f2 = £(x2);

if (£1>0)4

xm=x1; x1=x2; x2=xm;

ff=f1; f1=£2; f2=£ff;

}

printf ("\nFinding a root between x1 = g and x2 = %g \n",x1,x2);
printf ("f(x1)=)hg f(x2)=)g eps=¥g\n",f1,£2,eps);

if (£2<0){

printf("00 00000 .0000000000000000 \n";
continue;/*for*/

}

else if(£f1>0 && £2 >0){

printf("0 000000 .0000000000000000 \n";
continue;

}

for(;fabs(x1-x2)>eps;){

xm = (x1+x2)/2;

ff=f (xm) ;

i++;
printf("%2d %15.6e %15.6e %15.6e\n",1,x1,x2,xm,ff);
if (££<0)

x1=xm;

else

X2=Xm;

}

printf ("A root found between %g and %g\n",x1,x2);
break;

}

return 0;
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